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Note : There are two sections in this paper, namely 
Section-A and Section-B. All questions in Section-A 
are compulsory. From Section-B, any three questions. 

SECTION-A 
1. 	Answer the following objective type questions by 

selecting one best choice from the given choices. 
Each question carries 2 marks. 	 10x2=20 
(a) Which of the following network topology is 

highest in cost and reliability ? 
(i) Star 
(ii) Bus 
(iii) Mesh 
(iv) Ring 

(b) Which of the following is not a part of 
CPU ? 
(i) Main Memory 
(ii) ALU 
(iii) CU 
(iv) Operational Registers 

(c) First attempt toward automatic computing 
machine was made by 	 
(i) Von Neumann 
(ii) Babbage 
(iii) John Mill 
(iv) Blaise Pascal 
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(d) Which of the following is known as first 
16 bit micro processor ? 
(i) Intel 8080 
(ii) MC 68000 
(iii) MC 68020 
(iv) Zilog Z80 

(e) The instruction execution takes place in the 

(i) Main memory 
(ii) Hard disk 
(iii) CPU registers 
(iv) None of the above 

(f) 
	

Program interrupts or traps can occur on 

(i) Arithmetic overflow 
(ii) Power failure 
(iii) Memory parity error 
(iv) All of the above 

(g) Magnetic tapes are 	 storage. 
(i) Volatile and Random access 
(ii) Volatile and Direct access 
(iii) Non-Volatile and Sequential access 
(iv) Non-Volatile and Random access 

(h) Asynchronous communication is 
than 	synchronous 

communication. 
(i) 	difficult 
(ii) slower 
(iii) faster 
(iv) simple 

(i) 
	

Which of the following is not an operating 
system ? 
(i) UNIX 
(ii) Windows 98 
(iii) OS/ 2 
(iv) OS/ 4 
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(j) Gateways are used to connect, two 

(i) Similar Networks 
(ii) Dissimilar Networks 
(iii) Virtual Private Networks 
(iv) Computer and Network 

2. List the goals of an operating system. Also, 10 
differentiate between serial processing and batch 
processing. 

3. List the functions and services of all layers in OSI 10 
reference model. 

SECTION - B 

4. (a) Discuss and differentiate between DES and 	10 
RSA algorithms. 

(b) Draw and explain the basic structure of a 10 
Von-Neumann architecture. 

5. (a) Differentiate between Micro computers, 10 
Mini computers and Mainframes. 

(b) Explain the advantages and disadvantages 10 
of Ring and Star topologies. 

6. (a) Explain the four categories of programming 10 
languages. Also, give an example in each. 

(b) What is parallel processing ? Explain the 10 
advantages of multi-processing systems. 

7. Write short notes on the following : 	5x4=20 
(a) Optical Memory 
(b) CSMA/ CD 
(c) Compiler and Interpreter 
(d) WAN 
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ci1cI TF-q4 3TftT  	? 

(i) dlo, (Star) 

(ii) q-{1.  (Bus) 

(iii) lei (Mesh) 

(iv) (AO 	4 (Ring) 

(b) 	lft1ftd 	 cbt 91-Fr 	 t? 

(i) JT 9f1 

(ii) ALU 

(iii) CU 

(iv) 	I1lIcHtTre-ATET 

(a) 
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(c) 	fatlIMrt 	fq-kirr Tr-4324-1:4 w4R-4 -f-*-T=r4 

f-*-74-r ? 

(i) 	air 

(iii)  

(iv) LIR-chci 

(d) 	14-1 el gc-f 	74 09.-TT TE41;f2T14 16 fq-E 

-51#1TR 	- crrf9- ) 	tc\LI 4 Avir Midi t? 

(5) 	8080 
1-1.41 68000 

(iii) 1H.tfl68020 

(iv) \Ti1cli41 'k 80 

(e) 3-1-1k7IfTsci t? 

(i)  
(ii) "ftiF 

(iii) 41.-chr.z1, 

(iv) 3 cm "4 

(0 
	

3-1-d-TT-  "Trf TTRT f-*-u4 grad 	t? 

(i) 	A*-Trfur-d-174 3-TRI-54-qg 

(ii)i =4(41 \Till' 

TITFff 

(iv) 31:11-q?i W4t 
(g)   i.i- TTur @di t 

(i) 	AT qiq 776* 3TFITTri4 

TTft AT 	 3Tirrpc4 

(iii) 34-4F1-1.  AT 3T-Iwri-Tr--  AiTTITT 

(iv) 3T-6-Rfr AT eilf=roci, afiTTri:r 
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(iii) OS/2 
(iv) OS/4 
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I 

(b) c1I-1 V19.  c1R1:11(11 chl Atilt 4k141 -FITR AT 10 
	Tlf-A7 I 
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5. (a) 	Tir- 	4)4,1e.(, ft? a-i4-,-Td.& AT 49-ci-rf .1-) 4-,-v. 	10 
t -q-1-  3i-d-T Ticri 	---1-f-7 I 

(b) .q—d-zT * T-(--  144 	uil.  t1.1ff 3th Ti-- t ct-Ci. 	10 
cent-elf c -1-*i 

6. (a) 	9I14-III-1 94-rErraff *1 1R 3-r-urt ch 	qiul cqRsql 	10 

wIfq7 I 

(b) 	7197 4-II4-i cf-glt? -E----k-iI49.  cli-i chi oLiftsil 	10 

7. F-14-1 ro rt5 	ci IR sir ki-L71 rdu-1 	Rya fifes : 	 5x4=20 

(a) 	IIPiot) Till-fa-4i 

(b) CSMA/CD 

(c) 3TTiTEr 	AT fi-4-qT 

(d) lt-q z1i090-1 
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